Sumar Enteros (])

Emplee una estrategia de enteros para encontrar cada respuesta.

8+-67= 21 +53= 30+ 75 =
95 +-23 = 21 +-88= 72+ 67 =
-97 +-32 = -67 +57 = 93 +63 =
26 +-23 = 2+-83= 27 +42 =
19 +-96 = 85 + 20 = -33+29 =
-23+-22 = 77 +-80 = -37+-3 =
51477 = -88 + 56 = -39+ 2=
-86 + 94 = 80 + 28 = 29+ 72 =
-45 +-31 = 98 + 14 = 26 +52 =
-2 +-67 = 34 +62 = 9+12=
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Sumar Enteros (J) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

8+-67 =

-23 +-22 =

-51+77=

=26

-86 + 94 =

-45 +-31=
-76

2 +-67 =
-69

21+53=
=74

21+-88 =
= -67

-67 +57 =

-88 + 56 =

80 + 28 =

=108

98 + 14 =
=112

34 +62=

30 +75=
=105

72+ 67 =
=139

93 +63 =
=156

27 +42 =

=15

37 +-3 =

-39+ 2=
-37

-29+72 =
=43

26 +52 =
=78

9+12=
=21
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